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QUESTION 1

On which object is ADSPEC enabled? 

A. SDP 

B. Network port 

C. LSP 

D. Service 

E. RSVP 

Correct Answer: C 

 

QUESTION 2

What are the types of networks supported on an Nokia 7750 SR for OSPF? (Choose 2) 

A. Broadcast 

B. Non-Broadcast Multi-Access 

C. Point-to-Point 

D. Point-to-Multipoint 

Correct Answer: AC 

 

QUESTION 3

An OSPF ASBR must have at least one interface in the backbone area (area 0). 

A. True 

B. False 

Correct Answer: B 

 

 

QUESTION 4

Which of the following conditions will prevent an OSPF adjacency from reaching the full state? Choose three answers. 

A. MTU mismatch 

B. Incorrect subnet mask 
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C. System interface not included in OSPF 

D. Area ID not the same 

E. Different metric set on each end of the link 

F. Router ID not defined 

Correct Answer: ABD 

 

QUESTION 5

Which of the following statements is TRUE? 

A. An OSPF adjacency can be established on an IES interface. 

B. IES allows provider MP-BGP sessions to be extended to customers. 

C. An IES service must use static routes in order to communicate with customer networks. 

D. An IES interface supports OSPF and IS-IS in passive mode only. 

Correct Answer: A 
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